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(5 PTS] Find all zeros of f(x)=3x" +4x” +5x—6. ANSWER: = ~)
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[2 PTS] Check if x = —2 is a lower bound of the real zeros of f(x) = 2x® +3x* - 3. ANSWER: VES
In words, give a very brief reason for vour answer. (YES or NO)
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[2 PTS] Use Descartes’ Rule of Signs to determine the possible numbers of ANSWER: positive zeros: 3 sa )
negative zeros: 2. or2 O

positive and negative zeros of f(x) = x” — 2t +4x> +15x% +58x-40.
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ADDITIONAL QUESTIONS ON THE OTHER SIDE »




[4 PTS] Find a polynomial function with real coefficients that has 2 and S+ as zeros. ANSWER:  C— 12x"4 4by-52
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[2 PTS]| List all possible rational zeros of f(x) = 6x° +9x3 —12x* -24x+4, ANSWER: t'i, *g X % L
You do NOT need to find any actual zeros.
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[3 PTS] Write the quotient in standard form @ 5y ANSWER: = [8) 1
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[2 PTS] Simplify i and write in standard form. ANSWER: =
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